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Task 1: There are several errors in the £ and p columns in the cashing-up slip below. Rewrite the 
£ and p columns showing the correct amounts - the first error has been corrected.   
 
Task 2: Calculate the correct total in the till and cash takings for the day.  
 
 
 

Cashing up (end of shift) Corrections 
Coin/note 
value 

Number of 
coins/notes 

£ p   

£20 7 160 00 140 00 
£10  9 90 00   
£5  12 10 00   
£2  8 16  00   
£1  12 12  00   
50p  12 7  50   
20p  20 4 20   
10p  36 3  60   
5p  25 12  50   
2p  32 0  66   
1p  44 0  44   
Total in till  316 90   
Less float   20  00   
Cash 
takings 

 296 90   

 
 


